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DT —~ DM interpl/resample

% HRAAER/ AT 51 >4
>>y = interp1(tl,x1,t2,/method’),

AT LA W 1, x1: MRISS
N e B 2 fEROERINT MY
oot [ | qé\ I B ‘method’ : fEIXVYYR
A A AR | ] B linear : #RAZAHRS
I YLl Y ]| B spline : 2751 >4#R
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>>y = resample(x, p, 9),;
m X WRES
W p,q:p/gfETUS> T
my: #HERBOES
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% Bebl)mErIUcLk 2
>>y = fillgaps(x,len);
B X URES
B len:EEEICFERIZIT—IR
my: #EROES
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SDBEIR: fillgaps
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QL >R - HEBZRET D polyfit/polyval /sgolayfilt
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% SRR Z O oo
>>[p,s,mu] = polyfit(t,in,6);
> >f—y = po vaa I ( p,t’ [ ] 4 m u ); B 0 200 4(IJO 6(|)0 8(|)0 10I00 12I00 14|00 16|00 18I00 2000
>>out =in-f_y; ‘

O/OSaVItzky_Golayj,{}l/g (*gé}]:lii’;jj,{)bg@-*ﬁ) B 0 200 400 600 800 1000 1200 1400 1600 1800 2000

>>out = sgolayfilt(in,7,21);
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500:2(1/E1HA)

) 1000:5(28H)

% TSA: BFfel[EHAT S
>>tsa(x,fs,tPulse)
m xX: AJES
m fs: xOY IV IR
m tPulse: BHAFM1ZVIES

% e.g.) #HEZSOIEXEOR E RIS

>>fs = 500;
>>t = 0:1/fs:10-1/fs;
>>f0 = 1;

>>x = sin(2*pi*f0*t) + randn(size(t))/5;
>>tPulse = 0:1/f0:max(t); %EEY1 =220

>>tsa(x,fs,tPulse) %1EHA( T AL H)

>>tsa(x,fs,tPulse, ‘NumRotation, 2) %2/EEA ~
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QiEREZRIEES: finddelay

% HBEBECLZELERRBORIEED
>>D = finddelay(x, y)

B X Y ARES

B D: S5 EOIEERFR]

HESINIOELE=
e.g.) JIESHDELHTE K
>>t21 = finddelay(s2,s1) t21 =
>>t31 = finddelay(s3,s1) t3315f
>>t32 = finddelay(s2,s3) 150
t32 =

500

% EESHETFHIMESZEAZD
>>[x1,x3] = alignsignals(s1,s3);
>>x2 = alignsignals(s2,s3);
>>subplot(3,1,1), plot(x1)
>>subplot(3,1,2), plot(x2)
>>subplot(3,1,3), plot(x3)
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b=z R DTS findchangepts

% EEDZALOREVEIDZIRE
>>y = findchangepts(x)

B X WRES
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findchangepts(t)
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% ZALRDETHIFY
findchangepts(t 'MaxNumChanges',5)
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% RMSLANIDRHBEARETSE(LTS5=R
findchangepts(t,’'MaxNumChanges’,5, ...
'‘Statistic’,'rms")

ﬁﬁia}ﬁ%ﬁﬁkwA + 871 1003
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% FIEEIREREDREAEZTSEILTSIR
findchangepts(t,'Statistic’,'std")

m&iwﬁ%ﬁﬁkaw-r 1263 4625

10

'MMMWNW WMW‘ JW

L L
500 600 700 8




Ok P2 R DTS findsignal

% DTW, EDRFDF UM RRZICA U, ESDIERD
>>[istart,istop,dist] = findsignal(x,signal,Name,Value)

RO kESO—5: 1
T
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1
o ED 0,8*‘. f
B X NRES MATE
0,4*“"\,‘
Vo

B signal: Z1B/\5->
B Name, Value:#&H&H4aE. €DE

m istart, istop: RHEZBOBIA/MRTA>OTYIRA =

m dist: fE5H BN VARSE. |

e.q.) EUEHE(CHIFTBDTWDZIR
>>findsignal(dt,signal,'Metric’,‘absolute’) %4 L
>>findsignal(dt,signal, TimeAlignment’,‘dtw’,'Metric’,‘absolute’) %4&F
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R@E—U%ZRBDITS: findpeaks

% E— I RIEE THIK Y% RiiET —4 L DZETHI
% (=2 DE—HiESR find peasks(sig,Fs,'lMinPleakI)listaljce',0.00S) findpeaks(sig, s, Threshold, 1)

>>findpeaks(Xx) il
B X HRES |
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. % E— O RIMETEIH %% TOSHIRIE (EEDEEDSEETHK)

findpeaks(sig,Fs,'MinPeakHeight',1) findpeaks(sig,Fs,'MinPeakProminence’,1)
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>>histogram(x)
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% [EiRE T (£XEfft)
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>>periodogram(x)
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% RBEIEE AT (FRXEfft)
>>pwelch(x) W BE S (C
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Amplitude
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